Ch. 11.1 Q&A
 





Name: _____________________ Period: _____

	1.
	Where and when did the Industrial Revolution begin?

Prior to the Industrial Revolution, why was industry widely dispersed rather than clustered in smaller areas?



	2.
	Name the two major industries that developed during the early days of the Industrial Revolution.

What invention made it possible for these industries to manufacture on a large scale?

Iron manufacturing facilities originally were clustered near Staffordshire, South Yorkshire, Clydeside, and South Wales within Britain.  What was the main reason why iron factories were located in these four places?



	3.
	New transportation systems played a critical role in diffusing (spreading) the Industrial Revolution throughout Europe.  During the 1700s, ______________ were built to move goods and raw materials quickly and cheaply.   By the 1800’s, _____________________ were built first in England and then eastward across Europe.



	4.
	The invention of what machine made it possible for large scale manufacturing of cloth and textiles to take place for the first time in history?



	5.
	During the late 1700s and early 1800s manufacturing was more expensive in the United States than in Europe.  Why?


Ch. 11 Part 2 Q&A
 




Name: _____________________ Period: _____
	1.
	Three-quarters of the world’s industrial production is concentrated in what THREE regions?

Situation factors involve __________________________________ materials to and from a factory.
What factor(s) determine where a company or business will chose to locate a manufacturing plant?



	2.
	Explain why most American copper companies usually locate their factories close to the source of the copper ore.
What name is given to any economic activity in which the final product weighs less than its inputs?

What other factor(s) might determine where a copper manufacturing plant is located?



	3.
	Steel is another bulk-reducing industry that has traditionally been located to minimize the cost of transporting inputs.  What are the two major inputs steel manufacturers need to obtain?
Why did new steel plants move to the southern Great Lakes by the early 1900s?

Explain why mini-mills do not need to be located near coal or iron mines.  Where are they located?



	4.
	Breweries or soft drink bottling plants are good examples of bulk - _________________ industries.
Most bulk-gaining industries __________________ produces that gain ______________ rather than ______________.

Today, where do most automobile manufacturers locate assembly plants in the United States?  Why?


	5.
	Single-market manufacturers also tend to locate their facilities near their markets.  List the two examples in the text and explain why their location is critical to their success.


	6.
	List 3 products that will spoil or become outdated in a short period of time.
Where will the producers of these products need to locate in order to make money?

 

	7.
	The cheapest form of transporting goods long distances is by ________________.  Companies that use more than one mode of transportation (truck/rail/ship/air) will often locate near __________ of _______________ points.  


	8.
	Three production factors that help determine the cost of conducting business in specific locations (site factors) include __________________, ___________________, and _____________________.


	9.
	Modern factories are likely to be located in _________ rather that __________ areas for a number of reasons:    
                  1)  The cost of land is usually ____________ .
                  2)  Large tracts of land are needed because most factories are _________ story facilities.



	
	


	10.
	Name one situation factor used to determine where a company may choose to build a factory or manufacturing plant. 



	11.
	Mining is an example of a bulk - ______________ industry.



	12.
	Why were US steel mills historically clustered in only a few areas of the country?



	13.
	Why are breweries dispersed throughout the country?



	14.
	Explain why vehicle assembly plants are located primarily in the Midwest.



	15.
	Where are milk processing plants normally located?



	16.
	Why is Jacksonville a break-of-bulk point in Florida?



	17.
	The cheapest way to transport goods long distances is by ___________.



	18.
	List one reason why the demand for goods has declined in MDCs over the last 3 decades.



	19.
	MDCs in ____________ & ____________ accounted for 90% of global steel production in 1973.



	20.
	LDCs produced _____% of the world’s output of steel in 1973.  By the year 2000, this percentage increased to _____ %.



	21.
	Name the 3 most important trading blocs.



	22.
	Why do transnational corporations locate factories in countries other than the one in which its headquarters are located?




